5 4 [ Tt RS o T DR AR AL T IR I O B 7SR R B SRR e HIE =

(FAfEHI)  AM64E5 A 24 H 14 #3042 5 16 I 30 4>
(PSR ST 2 Aoty 2 — HE=E
(B &) HNESTEHL%
R EEOERICET 2 HECHRETIENM 24
CETH C C A DY v X — I T A ERM 24

CHIE#ES)
2E 4 B HFrEEEARERUAFIERHERSR
FIFEFER
RTFE (BZx3) HT
1 2 3 i 3 5
& & & o
f!j 1 5 27 1 8 42
? ;% 2 36 66 (0] 1 105
=
{fi‘( (0] 1 (0] (0] (0] 1
3l
FAE B IEEREBEEREEHERSSR
FIFEFE R
3 44 % =0 = -
E ] B =4 B
=
flj 102 102 o 4 106
~ F=:3
;I'_ = 206 206 o 5 211
7=
E ~
ii;ﬁ o o o o o
[E5]




